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However - 910D PRI DR NE AR Dan
if the =1» protests and the »»17 remains silent, he is disqualified.

OVERVIEW

The statement of X"2w" consists of three parts; A. %21 P90 72 ynow 93;
which (seemingly) teaches the 2n*1 (through rmg) of a ynviw %50 poo.' B.
ahahbnii7Batiivalelilml7e 1"7°0n; which teaches the 707 of a pnmwn '1T?3?3.2 C. ™\
DP1°aw 1990 10on; which teaches the 9100 of a prmwn Y9n.° The X3 however
claims an additional ruling that a n1%Y a7 is 9109, The difficulty that nooIn
will discuss is, from where does 7311 °27 derive that N 12 is 71097?!

nooIN asks:
- 4‘1?951% 12 PYNIVY *3H 59947 1Y NI ANY 2191 99NN ON)

And if you will say; how does 11m "1 know that R''2w disqualifies a g aran?!

N1B0IN answers:
- 555N POV N2 YNPVIY Y NDY YMPN AINTNI SINDT PNY 13929 IIN)

And the >''1 says that 731 "7 derived that X"2w7 maintains that a mX 777 is
5109, from the fact that he mentioned in his statement; ‘what is an 7o,

anything in which a 17 p2o was intermingled’; this phrase is superfluous —
= ©1°2Y 1PHON 19991 PRI DN2%2Y DIMIN INIY 1999919 NIN 919910 1’0 7N NI

He should have only stated; ‘the Jews recognize the 2°91%% among them,

but they do not recognize the 2v%%1m among them, without mentioning ¥nuIw 9>
591 790 12 -
—79u51 *ANY Y9Na 19unY NNt

Since from this phrase of o7 1aw 17551 17701 1°RY "1 101 we derived that

"'t cannot mean a 201 for a pnw %on, for according to the X"2w" a pmw 25m is 200,

* There is no need for him to be AN since oW > MM HXW° P°an; therefore everyone knows that he is
not a N,

3 He is reluctant to be mmx. He would rather be PO, since DmPaW 1PYYN PR PR, it is ‘safer’ to be silent
than to protest. If he protests they may verify that he is indeed 2105 (see following ;7>non 77"7 NMdOIN).

* From the statement of X"2w1 we may only derive that a m% 55m pnw Tmn are Iw>, while a pmw Y57 is
9109, but (seemingly) not that a g q1mn is 709, In fact it seems incongruent that a pmw man is "w> and a
nNg Tmn is 709!

> The interpretation of this phrase [according to MmooIn] is (seemingly) that a ymuaw 99m poo is "y N
ammx. [According to (°R 11"7) *"w9 it is discussing an 710°y 'NInoKR'. See previous (X,7°) 7"'n 7" 7N.]

® The phrase 17731 PR actually teaches that a pnw 95m is 7109, We derive from it that a nmx 251 is 0.

T A pmw 991 is 2100 as the X states, since he is afraid that if he will be g, they will investigate and find
that he is really 2109. If he is m% however there is no reason to assume that he is a 91, therefore he is w>.
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a X Y91 is >, There is seemingly no point in adding P90 72 yaLIY 92 0%V PR
%on. Therefore, >3 concludes that the reason that X"2w9 mentions 72 ynwIw 93 70°Y *MIPR
99 poo, is to teach us, that this an°1 of 7% applies only to a 971 790 and not to a poD
qran. The 21m Po0 is not permitted through 77 1¥; only through AP nw.

mooIn will now prove that there is no point in mentioning %21 P50 121 *MrR for its own
sake, unless the intention is that we infer from it that a m1¥ 17 is 109.
= 99 POV N YNVIY U3 NYNYND TINN RDT 9597 95

Just as it was unnecessary to teach us that an 70% is 7w> if a “twn poo

was intermingled in it. x"aw1 could have seemingly also stated (in addition to
stating 9717 Po0) that a 71 PoO is W2 by aP°nw. He chose not to do so since there is no
point in mentioning the In°7 of a np°nwa T, for it is derived from 2 man R 197701
o7°1°2w. Similarly there is no point in mentioning the 20> of a nM¥Y %91 since it is inferred
from the statement 07°aw °%%1 o1 1R.E Therefore -

= 9109 NNY AN NN TV NPT NNY HONT P11 RN INTI NON

It is certain that the only reason the phrase %>n poo 72 vnaviw 92 was
mentioned is in order that we infer from it that only a nmnx ®on is w>,
however a mnx 2m2n is 908,

SUMMARY
We derive that nxY aman is 7100 from the extra phrase of ¥nwIw 93 121 MIPKR
551 P50 112, Only a %1 PO is AMPM¥A N, but not a ran PoD.

THINKING IT OVER

1. mooIn ‘proves’ that the phrase 921 PO0 72 vRVIY 22 is extra, from the fact
that there is no similar phrase of 2m» poo 72 ¥avaw 95.° There seems to be a
difference, however. By a 2mn, the phrase 0712w 2mn ORW° 170N
teaches us overtly that a pnw 7man 1s Inn; therefore there is no need for an
additional phrase. However the phrase 07°1°2w 1251 101 1°X) teaches us that
a pnmwn Hom is MoR. A XY 991 is (merely) inferred from this statement.
Therefore perhaps &"2w7 wanted to state it (more) clearly.

2. If X"2w" maintains that a Mg M7 is 7109, why does he teach it through an
inference from a superfluous phrase; when he could have taught it to us
directly (with a necessary phrase), as he taught the other rulings?!

¥ See “Thinking it over’ # 1.
? See footnote # 8.
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